
 0...+50°C

 2  -  (4…20 ) 
 (0-10 ).  1  2  ( ) 

)  (°C)  t (°C)  0  +50°C.
 (Fig. 1)  t (°C)  (Iout A) 

 (Uout ) .  1 
.

Ta  1.  (Iout A)  (Uout )
 0  +50°C.

t/C° Uout Iout A
0 0 4
5 1 5,6

10 2 7,2
15 3 8,8
20 4 10,4
25 5 12
30 6 13,6
35 7 15,2
40 8 16,8
45 9 18,4
50 10 20

Fig.1.  (° )  (Iout A)  (Uout ) 
 0  +50°C.

:

t = (Iout - 4) * 3,125  1

       e.g. Iout = 10,4 A t = (10,4 – 4) * 3,125 = 20 (°C)

:

      t = Uout * 5  2

             e.g. Uout = 7     t = 7 * 5 = 35 (°C)
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 0...+100°C

 2  -  (4…20 ) 
 (0-10 ).  1  2  ( ) 
 ( )  (°C)  t (°C) 
 0  +100°C.  (Fig. 1)  t (°C) 
 (Iout A)  (Uout ) .  1 

.

Ta  1.  (Iout A)  (Uout )
 0  +100°C.

t/C° Uout Iout A
0 0 4
5 0,5 4,8

10 1 5,6
15 1,5 6,4
20 2 7,2
25 2,5 8
30 3 8,8
35 3,5 9,6
40 4 10,4
45 4,5 11,2
50 5 12
55 5,5 12,8
60 6 13,6
65 6,5 14,4
70 7 15,2
75 7,5 16
80 8 16,8
85 8,5 17,6
90 9 18,4
95 9,5 19,2

100 10 20

100

t/C°

Fig.1.  (° ) 
 (Iout A)  (Uout ) 

 0  +100°C.

:

t = (Iout - 4) * 6,25  1

       e.g. Iout = 14,4 A t = (14,4 – 4) * 6,25 = 65 (°C)

:

      t = Uout * 10  2

             e.g. Uout = 5,5     t = 5,5 * 10 = 55 (°C)
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Current output signal:

e.g. Iout 4) * 6,25
14,4 mA

t = (14,4 -
4)

* 6,25 = 65 (°C)

put signal:

t = Uout
e.g. Uout=

k 10
= 5,5 V

t = 5,5* 10
=

= 55
(°C)

eq. 1

eq. 2
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 -20...+80°C

 2  -  (4…20 ) 
 (0-10 ).  1  2  ( ) 
 ( )  (°C)  t (°C) 
 -20  +80°C.  (Fig. 1)  t (°C) 
 (Iout A)  (Uout ) .  1 

.

Ta  1.  (Iout A)  (Uout )
 -20  +80°C.

t/C° Uout Iout A
-20 0 4
-15 0,5 4,8
-10 1 5,6
-5 1,5 6,4
0 2 7,2
5 2,5 8

10 3 8,8
15 3,5 9,6
20 4 10,4
25 4,5 11,2
30 5 12
35 5,5 12,8
40 6 13,6
45 6,5 14,4
50 7 15,2
55 7,5 16
60 8 16,8
65 8,5 17,6
70 9 18,4
75 9,5 19,2
80 10 20

-20   -10     0      10     20     30     40     50     60     70     80

t/C°

-20   -10     0      10    20     30    40    50    60     70     80

t/C°

Fig. 1  (° ) 
 (Iout A)  (Uout ) 

 -20  +80°C.

:

t = (Iout – 7,2) * 6,25  1

       e.g. Iout = 11,2 A t = (11,2 – 7,2) * 6,25 = 25 (°C)

:

      t = (Uout – 2) * 10  2

             e.g. Uout = 4,5     t = (4,5 – 2) * 10 = 25 (°C)
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Current output signal:

t = (Iout- 7,2) * 6,25
e.g. Iout= 11,2 mA         t = 1,2- 7 , 2 ) * 6,25 = 25 (°C)

eq. 1

Voltage output signal:

t = (Uout - 10

e g
 U o u t =

4,
5

V t = (
4
,
5
-
2)*

10 =  fop\
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 -20...+150°C

 2  -  (4…20 ) 
 (0-10 ).  1  2  ( ) 
 ( )  (°C)  t (°C) 
 -20  +150°C.  (Fig. 1)  t (°C) 
 (Iout A)  (Uout ) .  1 

.

Ta  1.  (Iout A)  (Uout )
 -20  +150°C.

t/C° Uout Iout A
-20 0 4

-11,5 0,5 4,8
-3 1 5,6

5,5 1,5 6,4
14 2 7,2

22,5 2,5 8
31 3 8,8

39,5 3,5 9,6
48 4 10,4

56,5 4,5 11,2
65 5 12

73,5 5,5 12,8
82 6 13,6

90,5 6,5 14,4
99 7 15,2

107,5 7,5 16
116 8 16,8

124,5 8,5 17,6
133 9 18,4

141,5 9,5 19,2
150 10 20

-20      0      20     40     60      80     100    120    140    160

t/C°

-20  0  20  40  60  80 100 120 140 160

t/C°

Fig.1.  (° ) 
 (Iout A)  (Uout ) 

 -20  +150°C.

:

    t = Iout * 10,625 – 62,5  1

           e.g. Iout = 8 A t = 8 * 10,625 – 62,5 = 22,5 (°C)

:

      t = Uout * 17 – 20  2

             e.g. Uout = 3    t = 3 * 17 – 20 = 31 (°C)
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Current output signal:

t — 1     *
T  = Iout
e.g. Iout=

10,625-62,5
8 mA

t = 8* 10,625- 62,
5

= 22,5 (°C)

put signal:

t = Uout
e.g. Uout

* 1 7 - 20
= 3V

t = 3* 17-20
=

= 31 °C)

eq. 1

eq. 2
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 -50...+50°C

 2  -  (4…20 ) 
 (0-10 ).  1  2  ( ) 
 ( )  (°C)  t (°C) 
 -50  +50°C.  (Fig. 1)  t (°C) 
 (Iout A)  (Uout ) .  1 

.

Ta  1.  (Iout/ A)  (Uout/ )
 -50  +50°C.

t/C° Uout Iout A
-50 0 4
-45 0,5 4,8
-40 1 5,6
-35 1,5 6,4
-30 2 7,2
-25 2,5 8
-20 3 8,8
-15 3,5 9,6
-10 4 10,4
-5 4,5 11,2
0 5 12
5 5,5 12,8

10 6 13,6
15 6,5 14,4
20 7 15,2
25 7,5 16
30 8 16,8
35 8,5 17,6
40 9 18,4
45 9,5 19,2
50 10 20

-50   -40   -30   - 2 0 - 1 0     0      10    20    30    40    50

t/C°

-50   -40   -30   -20    -10     0      10    20     30    40     50

t/C°

Fig.1.  (° ) 
 (Iout A)  (Uout ) 

 -50  +50°C.

:

    t = (Iout – 12) * 6,25  1

              e.g. Iout = 16,8 A t = (16,8 -12) * 6,25 = 30 (°C)

:

      t = (Uout – 5) * 10  2

             e.g. Uout = 6,5      t = (6,5 – 5) * 10 = 15 (°C)
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Current output signal:

e.g. Iout= 12) *
16,8

6,25
mA

t = (16, 8 -
1 2 ) * 6

25
=

30 (°C)

put signal:

t = (Uout
e.g. Uout=

-
5 ) *

=
6,5

10
V

t = (6,5 - 5) * 10
=

= 15

eq. 1

eq. 2
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